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Set0l Answers for No.10464

areal = {7,9} n(4 N B)=1 n(4 U B)=7

Ansl =| .1 = area;rf‘gzl:“{?g 1y [2=| a-B)=2 a(U-(4 U B)=6
aread = {0,2,5,6,8,12} n(B-A)=4 Math@MUT
arizz"ig{ﬁ} n4 N B)=2  n(4duB)=5
Ans2=|.1= area3:{0,13} ,.2=| n(4-B)=1 n(U-(4 U B))=10
aread ={1,2,3,4,5,6,9,10, 11,12} n(B-4)=2 Math@MUT
[ [ areal = {9} i B ]
area2 = {8,14,16} n(intersect(A4, B, C)) =1 n(4d-B)=2
area3 ={3,5} n(union(4, B, C)) =10 n(B-A4)=3
szl 12 aread = {12} 5 n(4 N B)=4 n(C N (4 U B))=3
S R areas= {11} ol = n(B N C)=2 n(C U (4 N B))=7
area6 = {10} n(4 v C)=8 n(intersect( A4, B, C)'): 15
area7 = {17} L n(Bu C)=9 Math@MUT
L Larea8 ={2,4,6,7,13,15}] i

4w B={4,7,9,10,12, 14,17} i 1=(A'={area3, aread}) 1
A N B=1{4,9}

’ 2=(B-A={area3})
A v B={4,56,7,8,9,11,12,13,14, 15,16} 3=(A-B)n (B-A)={1})
B~ A={10,17}

4= (A’ = {area3, areab, area7, area8 })

Ans4 = A4-B={7,12,14} , Ans5 = S=(A4 n (B v C)={area2, area, areal })
B-A= {5,6,8,11,13,15,16} 6=((4 N B) U (4 n C)={area2, area, areal })
(4 U B)=15,6,8,11,13,15,16} 7=((A-B) N (4-C)={areal })
4 n B'=1{506,8,11,13,15 16} 8=(A4 N C={area3, area8})
L (4-B)=1{4,5,6,8,9,10,11,13,15,16,17} | L 9=((A4~C) —B= {aread, area7, area8}) J

DG RF-Te (SR NIV (N B ID:9:9:9:9:9:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0:9:0.0:0.9:0.9:0.9.0.9.9.9.9.0.0.0.9.0.9.0.9:0.9:0.:9:0.9:0.:9:0:9:0:9:0:0:0.:9:0.9:0.9:0.9.9.9.9.0.9.0.9.0.¢
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Set0l Answers for No.10521

fj;lz‘_{{i 181}} n(d N B)=2  n(4du B)=7
Ansl =| .1 = area3:{0,7,,10} ,.2=| n(4-B)=2 n(U-(4 v B))=5
aread = {1,3,5.6,9} n(B-4)=3 Math@MUT ]
area;r:e[zil S{Z’ZI} 14} n4 N B)=3 nd v B)=38
Ans2=| .1 = area3’:’{l’O}’ ,.2=| n(4-B)=2 n(U-(4 v B))=3
aread = {9, 12, 13} n(B-4)=1 Math@MUT
i areal = {4,16} | ]
area2 = {10} n(intersect(4, B, C)) =1 n(4d-B)=2
area3=1{3,5,11,15} n(union(4, B, C))=13 n(B-4)=5
ns3—| 1 aread = { } . n(4d N B)=2 n(C N ((4uvB))=2
' areas = {13} n n(B N C)=2 n(Cu (4 nB))=7
areab = {18} n(4 v C)=9 n(intersect(4, B, C) ) = 16
area7 = {2,6,12,17} n(Bu C)=11 Math@MUT
L Larea8=1{17,8,9, 14} | i
A v B={2,3,4,6,11,12,13,14} i 1 =(A = {area3, aread})
/ AN B=1{4,12} 2=(A-B={areal })
AV B={3,4,57,8,9,10, 11,12, 13, 14} 3=((A-B) U (B—A)={areal, area3})
B A= {2,6} 4=(B v C={area2, area3, area4, area’, areab, area7 })
Ansd = A-B={3,11,13, 14} . Ans5 = S=(4 v (B n C)={areal, areal, aread, area’, area6 })

B —4=1{57,8,9,10}
(4 U B)=1{57,8,9,10}
A~ B={51780910}
(4-B)=1{2,4,5,6,7,8,9,10,12}

X [Page

6=((4 v B) n (4 v C)={areal, area2, area4, areas, area6 })
7=((A-B) n (A-C)={areal })
.8:(A’ N B= {area7, area8})
.9:(C' N (4 —B)'= {area2, area3, area8})
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Set0l Answers for No.10794

areal = {3,8,9,11,13}

area2 = {12} n(4 N B)=1  n(4v B)=9

Ansl =| .1 = ,.2=| n(4-B)=5 n(U-(4 U B))=4
area3 ={4,7, 14} B
aread = {5,6, 10,15} n(B-4)=3 Math@MUT
”r:fela;fl{’sz’fl’?} n(d N B)=2  n(du B)=7
Ans2 =| .1 = o ,.2=| n(A-B)=4 n(U-(4 U B))=8

area3 = {7}

area4 = {0, 3,4,8, 10, 12, 13, 14} n(8-4)=1 Math@MUT
i areal = {7,8,19,20} ] i
area2 =1{ } n(intersect(4, B, C)) =0 n(d-B)=5
area3 ={2,3,6,10,17} n(union(4, B, C)) =13 n(B-A4)=7
nsi=| 12 aread = {14} e n(4 N B)=0 n(C N (4 v B))=3
area5 ={ } ’ n(B N C)=2 n(Cu (4 nB))=4
areab = {4,16} n(4 v C)=8 n(intersect(A4, B, C)/) =20
area7 = {1} n(B v C)=9 Math@MUT
L Larea8 = {5,9, 11, 12, 13, 15, 18 } | J
4w B=1{1,2,3,570910,11} [ 1=(A = {area3, aread}) 1
. AN B=17.9] 2=(A4' - B={aread})
Av B={1,2,3,4,6,7,8,9,10,11,12} 3=((A-B)n (B-A)={})
BN A= {5} .4:(C/: {areal, area2, area3, area8})
Ans4 = 4-B={1,2,3,10,11} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area$, areal } )
B—A= {4,6,8,12} 6=((4 v B) n (4 v C)={areal, area2, area4, areas, area6 })
(4 U B)=1{4,6,812} 7=((C=4) N (C-B)={area7})
A N B={4,68,12} 8=(4 n C'={area3, area8})
L (A-B)'=1{4,5,6,7,8,9,12} i L 9=((B—-C) —A={areab, area’, area8 }) ]
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Set0l Answers for No.11835

areal = {7,10} B .
area2 = {11} n(4 N B)=1 n(4d U B)=6

Ansl =| .1 = , 2= n(4d-B)=2 n(U-(4 v B))=6
area3 ={8,9,12} -
aread = {2, 3, 4’ 5’ 6, 13} H(B A) =3 Math@MUT
areal = {4, 14,15}

area? = {5} n(4d N B)=1 n(4 U B)=6

Ans2 =| .1= area3 = (6,11} ,.2=| n(4-B)=3 n(U-(4 v B))=7
aread = {3,7,8,9, 10, 12, 13} n(B-A)=2 Math@MUT
T areal = {6,8,9,18} i ]
area = { } n(intersect(4, B, C)) =1 n(4A-B)=5
area3 = {17} n(union(4, B, C))=9 n(B-A4)=2
ns3=| 1= aread = {10} P n(4d N B)=1 n(C N (4 v B))=3
' area5= {4} . n(B N C)=2 n(Cu (4 nB))=4
areab = {11} n(4 v C)=8 n(intersect(4, B, C)) =17
area7 = {12} n(Bu C)=5 Math@MUT
L Larea8 = {3,5,7,13,14, 15,16, 19,20} ] J
AV B={4,6,7,9,10,11,13} i 1=(4 N B={area2}) 1
AN B=14,10} 2=(A'-B'={area3})
A v B=1{3,4,5,6,8,10,12, 14} 3=(A-B) n (B-A)={1)
B A= {7,9,11, 13} 4= (A’: {area3, areab, area7, area8 })
Ans4 = A4-B={6} , Ans5 = S=(B N (4 v C)={area2, area’, areab})
B-A= {3,5,8,12, 14} 6=((4 N B) U (B n C)={area2, area’, areatb })
(4 U B)={3,5,8,12,14} 7=((B-4) n (B-C)={area3})
A N B= {3,5,8,12,14} 8= (B/ U C= {areal, area2, area3, area4, area?7, area8 })
L(4—B)'={3,4,5,7,8,9,10,11,12, 13, 14} ] L 9=((B~C) —A4={areab, area7, area8}) J

DG RF-Te (SR NI V(LY ID'0:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:0:9:0.9:9.9.9.9.9.9.9.9.9.0.9.0.9:0.9.0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.0:0:9:0.9.0.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9:0.9:0.9.9.9.9.0.9.0.9.0:¢
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Set0l Answers for No.12154

areal = {5,10}

area2 = {7,12} n(4 N B)=2  n(4u B)=5

Ansl =| .1 = aread = 16 ,.2=| n(4-B)=2 n(U-(4 v B))=17
aread = {2,3, 4, {8 9}, 11,13} n(B-A)=1 Math@MUT
ariziic;{:zi?gi()} n(4d N B)=1 n(4d U B)=6
Ans2=|.1= area3 = (3,8 ,.2=| n(4d-B)=3 n(U-(4 v B))=9
aread ={1,4,5,6,7,11,12,13, 14} n(B-4)=2 Math@MUT
i areal = {10, 15} ] i
area? = {4,12} n(intersect(A4, B, C)) =0 n(d-B)=5
area3 = {16} n(union(4, B, C))=9 n(B-4)=1
dnsi=| 1= aread = {7,13,17} e n(4d N B)=2 n(C N (4 v B))=3
area5 ={ } ’ n(B N C)=0 n(Cu (4 nB))=6
areab = { } n(4 u C)=8 n(intersect(4, B, C)) =17
area7 = {11} n(Buv C)=7 Math@MUT
L Larea8={1,2,3,5,6,8,9,14} ] ]
A U B=1{4,9,10,11,12,13,15,16,17} | i 1 =(A4'={area3, aread}) ]
’ A N B=1{9,12,13,15} .2:(3/—A/:{area1})
A v B={5,6,7, 8,’ 9,11,12,13, 14,15, 16} 3=((4 U B) = {aread})
B nA4={410,17} 4=(4 n C={aread,area’})
Ans4 = A-B=1{11,16} , AnsS = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B A= {5,6,7,8,14} 6=((4 v B) n (B v C)={area2, area3, aread, areal, area6 })
(4 U B)=1{56,7,8,14} 7=((B-4) N (B-C)={area3})
A N B={56,7,8 14} 8=(A'—C = {areab, area7})
l(A-B)=1{4,5,6,7,8,9, 10,12, 13, 14, 15,17 } | L 9=(B N (4-C) = {area3, area5, area6}) J
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Set0l Answers for No.12193

areal = {7,9,13} n(4 A B)=3  n(4 U B)=8

Ansl =| .1 = ”VZ‘Z;?’{;I;?} L 2=| n(4-B)=3 n(U—-(4 U B))=5
aread = {3, 6,8, 10, 14} n(B-4)=2 Math@MUT
“re;’je;;i’{sé 87’}10} n(4 N B)=2  n(4 U B)=8
Ans2=| .1= area3:{3”“} . 2=| n(4-B)=4 n(U—-(4 U B))=4
aread = (09,49 n(B-A)=2 Math@MUT
i areal = {11, 18} ] i
area = { } n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {8,17} n(union(4, B, C)) =10 n(B-A4)=4
I aread ={ } S n(d N B)=1 n(C N (4 U B))=3
areas = {14} ’ n(B N C)=3 n(Cu (4 nB))=6
areab = {3,9} n(4 v C)=8 n(intersect(A4, B, C)/) =16
area7 = {5,6,12} n(B U C)=8 Math@MUT
L Larea8 = {4,7, 10, 13, 15, 16, 19 } | J
4V B={4,6,7,9,14,17} i .1=(A4 v B={areal, area2, area3}) i
, 40 B={47; 2=(A—B={aread})
A4 U B'=1{4,57,8,9,10,11, 12,13, 14, 15, 16, 17, 18} 3=((A=B) U (B—A)={areal, area3})
BﬂA’:{6} 4=(B n C={areal, areab})
Ansd = A-B={9,14,17} , Ans5 = S=(C v (4 N B)={area2, area4, areas, area6, area7 })
B-A= {5,8,10, 11, 12,13, 15, 16, 18} 6=((4 v C)n (B vy C)={area2, area4, areas, areab, area7 })
(4 U B)={58,10,11,12, 13, 15, 16, 18} -7=((CjA) N (C-B)={area7})
A~ B'={578,10 11,12, 13,15, 16,18} 8=(4 n C={area3, area8})
(A-B)={4,5,6,7,8,10,11,12, 13,15, 16,18} | L 9=(C N (B-A) = {aread, areas, area’ }) _
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Set0l Answers for No.12681

areal ={0,2,7}

area2={1,5,10} n(d4d N B)=3 n(4d U B)=8

Ansl =| 1= ,.2=| n(4-B)=3 n(U-(4 v B))=3
area3 = {3,9} -
aread = {4, 6,8} n(B-4)=2 Math@MUT
ajerzglf:{ghlz; fz}} n(4 N B)=3 n(4d U B)=8
Ans2 =| .1 = =19, 10, ,.2=| n(4d-B)=3 n(U-(4 v B))=4

area3 = {5,14}

aread = {3,6, 11, 13} n(B-4)=2 Math@MUT
[ areal = {6, 8} ) ]
area = { } n(intersect(4, B, C)) =0 n(4d-B)=5
area3 = {1} n(union(4, B, C))=9 n(B-A4)=3
ns3=| 1= aread4 = {10, 12,13} P n(4 N B)=0 n(C N (4 v B))=5
' area5=1{ } . n(B N C)=2 n(Cu (4 nB))=6
areab = {3,7} n(4d v C)=8 n(intersect( A4, B, C)'):IS
area7 = {11} n(Bu C)=7 Math@MUT
L Larea8 ={2,4,5,9,14, 15} ]
A v B={2,3,4,517,89,11} [ 1=(4 N B={area2})
4N B=1{3,49} 2=(A'-B'={area3})
40 B={1,3,45,6,7,809,10,11} 3=((A-B) n (B-A)={1)
B A= {2} .4:(C’: {areal, area2, area3, area8 })
Ans4 = A-B={5,7,8,11} , Ans5 = S5=(C n (4 v B)={area4, areal, area6 })
B-A= {1,6,10} 6=((A4 N C) U (B n C)={aread, areal, areab })
(4 U B)={1,6,10} 7=(A-B) N (4-C)={areal })
A~ B={1,610} .8=(A' - B = {area3, area6})
L (A—B)':{l,z, 3,4,6,9,10} | L .9=((B—C)'—A={area6,area7,area8}) i

DG RF=Te (SR NIV VA ID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9:0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.9:0.9:0.9:0.9.9.9.9.9.0.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:0:0:0:0.:9:0.9:0.9.0.9.9.9.9.0.9.0.9.0.¢
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Set0l Answers for No.13021
areal = {4,6,7,8,12,13}

area2 =1{ } n(4d N B)=0 n(4 U B)=9

Ansl =| .1 = ,.2=| n(4-B)=6 n(U-(4 v B))=4
areZi;z{i’f’}ls} n(4 A B)=0  n(4 U B)=10
Ans2 =\ 1= a3 = 17,9, 12,13, 14, 16, 17} [ 2 =| MA=B)=3 n(U=(4 v B))=4
aread = {4,5,10, 11} n(B-A4)=7 Math@MUT
I areal = {4,9} | i
area2 = {3,16} n(intersect(4, B, C))=0 n(4d-B)=4
area3 = {8,10, 11,15} n(union(4, B, C))=13 n(B-4)=35
Ans3<| 12 aread = {2,7} . n(4d N B)=2 n(C N (4 v B))=3
area5 ={ } ’ n(B nNnC)=1 n(Cu (4nB))=7
areab = {5} n(4 v C)=9 n(intersect(A4, B, C)/): 17
area7 = {1, 14} nBuC)=11 Math@MUT
L Larea8 = {6,12,13,17}] ]
AU B={2,3,4,6,9,11,12,13} [ d=(A4 N B={area2}) )
o AN B={2) 2=(B ~A={aread})
A v B={2,56,7,8,9,10,11,12,13} 3=((A-B)n (B-A)={})
B A={34} 4=(A v C={areal, area2, aread, area5, areab, area?7 })
Ansd = A-B=1{6,9,11,12,13} . AnsS = S=(4 v (B n C)={areal, areal, aread, areal, areat6 })
B A= {5,7,8,10} 6=((4 v B) n (A4 v C)={areal, area2, area4, areal, area6 })
(4 U B)'= {5,7,8,10} 7=((B-4) U (B-C)={area2, area3, areab })
A A~ B = {(5,7,8,10} .8:(A’— C= {areab, area7})
L (A-B)=1{2,3,4,5,7,8,10} ] L 9=(B N (C-A) = {areal, aread, area8}) ]
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Set0l Answers for No.13661

areal = {1,2,6}
area? = {3,5,9}
area3 =1{0,7}
aread = {4, 8,10}
areal = {3,4,10,11, 15}
areal = { }
area3 = {5,9,12}

n(4d n B)=3  n(4 U B)=38
,.2=| n(4-B)=3 n(U-(4 U B))=3
n(B-A)=2 Math@MUT

Ansl =| .1 =

n(4 N B)=0  n(4 U B)=8

Ans2=| 1= ,.2=| n(4-B)=5 n(U-(4 U B))=6

aread = {2,6,7,8, 13, 14} n(B-4)=3 Math@MUT
[ areal = {4,16} | 1
area? = {8,12} n(intersect(A4, B, C)) =2 n(4d-B)=3
area3 = {10, 14} n(union(4, B, C))=10 n(B-A4)=2
ns3=| 1= aread = {11} e n(4d N B)=4 n(C N ((4uvB))=3
area5 = {5,6} ’ nBnNnC)=2 n(CuU (4 nB))=6
areab = { } nd v C)=8 n(intersect(4, B, C)') = 13
area7 = {3} n(B v C)=8 Math@MUT
L Larea8 = {2,7,9,13,15}] i
AU B=1{4,57,8,9,12,13,1516} | [ 1=(4 n B={area2}) ]
o AN B=1{7.8 12} 2=(A-B'={area2})
A v B=1{4,56,7,8,9,10,11, 12,13, 14} 3=(4 N B'={aread})
Bnd= 115,16} 4=(B v C={area2, area3, area4, area’, areab, area7 })
Ans4 = A-B=1{4,5,9,13} , Ans5 = S=(B v (4 n C)={area2, area3, aread, area’, area6 })
B-A= {6,10, 11, 14} 6=((4 v B) n (B v C)={areal, area3, area4, areas, area6 })
(4 v B)': {6,10, 11,14} 7=((C—-4) v (C-B)={aread, areab, area?7})
A~ B'=1{6,10, 11,14} 8=(B n C={areal,area8})
| (4-B)=1{6,7,8,10,11,12,14,15,16} | L 9=((C—A4) - B = {area2, area3, areas ) ]

DG B=F=Te (SRE NIV ID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0:9.0.9:0.9:0.9.0.9.0.9:0:9:0:9:0:9:0.:9:0.:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0:0:0.9:0.9:0.9.0.9.9.9.0.0.0.0.9.0.9.0.9:0.9:0:9:0.9:0.9:0:9:0:9:0:0:0.9:0.9.0.9:0.9.9.9.9.0.9.0.9.0.¢



Set0l Answers for No.13811

X [Page

Ans4 =

areal = {6,8,9,13}

o, area? = {11}
Anst=\ 1= 3= 12,457,101
aread = {3,12,14}
areal = {4}
dns2=| 17— area? ={2,6,8,10,11}

area3 = {3,13}
aread4 ={5,7,9,12}
[ areal = {0} i
area? = {10, 11}
area3 = {3,4,19}

aread = {16}

aread={ }

area6 = {9, 14}
area’7 = {5,6, 15}

L Larea8 ={1,2,7,8,12,13,17, 18}

AU B=1{2,3,4,6,7,9,10} ]
AN B={}
4 U B=1{0,1,4,5728,10,11,12,13}
BN A={23609}

A-B=1{4,7,10} i
B'—4=1{0,1,5,8 11,12, 13}

(4 U B)=1{0,1,58,11,12,13}

4 nB=1{0,1,528,11,12,13}

Ans3 =| .

[(4-B)=1{0,1,2,3,5,6,8,9, 11,12, 13}

>'2:

Ans5 =

n(4 N B)=1 n(4 v B)=10
2= n(A-B)=4 n(U-(4 v B))=3
n(B-4)=5 Math@MUT
n(4d N B)=5 n(4 v B)=8
,.2=| n(4-B)=1 n(U-(4 v B))=4
n(B-4)=2 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=2
n(union(4, B, C))=12 n(B-4)=5
n(d N B)=2 n(C N (4 v B))=3
nB N C)=2 n(Cu (4 nB))=8
n(4 v C)=9 n(intersect(4, B, C)) =20
n(Bu C)=11 Math@MUT

A= (A'= {area3, area4})
2=(A-B={area2})

3=((4 U B) = {aread})
4=(B v C={areal, area3, area4, areas, areab, area7 })
S=(B U (4 n C)={area, area3, area4, areal, areat } )

6=((4 v B) n (B v C)={area2, area3, area4, area’, area6 })
7=((A-B) n (A-C)={areal })
8= (A/ U C= {areal, area2, area3, area6, area7, area8 })
9=((4- C)'— B = {area3, areal, areab6 })
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Set0l Answers for No.14080
areal = (6,13} n(4 A B)=2  n(4 U B)=8

area2=1{7,9} 2= n(A-B)=2 n(U-(4 v B))=4

Ansl =| .1 = .
‘;’:;3 , :{ {32”5 N 181,’ 1102}} n(B-A)=4 Math@MUT
a”:e 2”21: {{173’ 1105}'} nd n B)=2  n(duU B)=7
Ans2=| 1= area3:{3,;l,5} | 2=| n(4-B)=2 n(U-(4 U B))=6
aread = {6,8,9, 11,12, 14} n(B-4)=3 Math@MUT
[ [ areal={2,11} | ]
area? = {3} n(intersect(4, B, C))=0 n(4-B)=3
area3={1,4,12} n(union(4, B, C))=13 n(B-4)=5
msi—| | areat=115} 5 n(d n B)=1 n(C N (4 U B))=3
' area5=1{ } . n(B N C)=2 n(Cu (4 nB))=38
area6 = {9, 14} n(4 v C)=10 n(intersect( A4, B, C)') =17
area7 ={0,7,13,16} n(Bu C)=11 Math@MUT
L L area8 ={5,6,8,10} | i

.]=(A'= {area3, area4})
2=(B-A'={area2})
3=((A4-B) U (B—A4)={areal, area3})
4=(B n C={areal, areab})

AU B={1,3,56,7,8,11,12,13}
AN B={3538)}
4 U B={0,2,3,4,57,8,9,10,11}
B A={161213}

Ans4 = A-B={7,11} , AnsS = 3=(C v (A4 N B)={area2, area4, areas, areab, area? })
B -A= {0,2,4,9,10} 6=((4 v C) N (B v C)={area2, area4, areas, areab, area7 })
(4 U B)=1{0,2,4,9,10} 7=((C-4) N (C-B)={area7})
A N B= {0,2,4,9,10} 8= (B/ U C= {areal, area2, area3, area4, area?7, area8 })
9=((B —A)'— C= {aread, area$, area7}) |

L(4-B)=10,1,2,3,4,5,6,8,9,10, 12, 13} L
0011] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXKXKKXXKKKKKKKKKKXK KKK KKK KKK XKL K KK KKK KKK KKK KKK KK KKK KKK KKK KKK KK KKK KKK KKK KKK KKK KK KKK KKK KK KKK KKK

X [Page =




R RUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0:0:0:0:0.:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:0.6:0.0:0. ¢ - YL EI I T NN NI JOh B2 0:¢
Set0l Answers for No.14306

areal ={2,3,4,8}

- n(4 N B)=1 n(4d U B)=17
Ansl=| .1 = ;23’32:{{7109}} ,2=| n(A-B)=4 n(U—-(4 U B))=4
aread = {1.5.6.11) n(B-A4)=2 Math@MUT
areazfr{eg];l{og}ﬁ 131 nd nB)y=5 4w B)=8
Ans2=| .1= a_rea3’_’{4’7}’ ,2=| n(4-B)=1 n(U-(4 U B))=4
aread = (3.5, 11, 14} n(B-A4)=2 Math@MUT
ol areal = {1,9} ] ]
area2 = {8,10} n(intersect(A4, B, C))=0 n(4d-B)=2
area3 = {3,16,17} n(union(4, B, C)) =10 n(B-4)=5

P aread = { } . n(4d N B)=2 n(C N (4 v B))=2
' area5=1{ } . n(B N C)=2 n(Cu (4 nB))=5
areab={2,6} n(4 v C)=7 n(intersect( A4, B, C)'): 17
area7 = {11} n(Bu C)=8 Math@MUT

L larea8=1{4,5,7,12,13, 14,15} ]
AU B=1{1,3,4,506,,8} i
AN B={5}

1 =(A v B={areal, areal, area3})
2=(4'-B = {area3})

Ans4 =

A4 U B'={2,56,80910,11,12,13}
B A={1347}
A-B=1{6,8}

B -A4=1{2,9,10,11,12,13}

(4 U B)=1{2,9,10,11, 12,13}
A4~ B'=1{2,91011,12, 13}

[(4-B)=1{1,2,3,4,5,7,9,10,11, 12, 13}

, Ans5 =

3=((A4-B) U (B-A)={areal,area3})
4=(4 N B={area2,areal})

S=(B U (4 n C)={area2, area3, area4, area$, area6 } )
6=((4 v B) n (B v C)={area2, area3, area4, areal, area6 })
7=((A-B) U (A-C)={areal, area2, aread })
8= (A/—B’: {area3, area6 })
9= ((C—B)'—A = {area3, area6, area8 })
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Set0l Answers for No.14438

X [Page

Ans4 =

areal = {3,4,7}

n(d N B)=2 n(4 U B)=9
Ansl =| .1 = WZZZ‘Z‘{O{?l”IZI’;} 2= n(4-B)=3 n(U—-(4 U B))=3
aread = {5, 6,10} n(B-4)=4 Math@MUT
areaiiaz{;?}l}m n(4d N B)=1 n(d U B)=7
Ans2=|.1= ,.2=| n(4-B)=2 n(U-(4 v B))=7
area3 ={5,6,7,14}
area4 = {4,8,9,10, 11, 12, 13} n(B-4)=4 Math@MUT
[ [areal =1{0,2,7,9,11,12}] ]
area2 =1{ } n(intersect(4, B, C)) =1 n(4-B)=6
area3 = {14} n(union(4, B, C)) =11 n(B-A4)=2
P aread = { } P n(4d N B)=1 n(C N (4 v B))=2
' area5= {5} . n(B N C)=2 n(Cu (4 nB))=4
areab = {3} n(4 u C)=10 n(intersect(4, B, C)) = 15
area7 = {10, 13} nBuC)=5 Math@MUT
L L area8={1,4,6,8,15} | i
(4 U B=1{4,5,6,7,8,9,11,13,14} | r d=(4 A B={area2})
AN B={11,14} 2=(4' - B = {area3})
4V B= {63 7,9,10,11,12, 14} 3=0(4 n B)': {areal, area3, area4})
B nA4={45,813} 4=(A n C={aread, area5})
A-B={6,7,9} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area$, areat6 } )

B'—4=1{10,12}
(4 U B)={10,12}
A4~ B'={10,12}

L[(A-B) =1{4,5,8,10,11, 12, 13, 14}

6=((4 v B) n (A4 v C)={areal, area, aread, areal, area6 })
7=((A-B) n (A-C)={areal })
.8:(A’—B’: {area3, area6})
.9:((C—A)'—B'= {area2, area3, area’ })
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Set0l Answers for No.14778

Ans4 =

X [Page

areal ={0,5,6,9}

area? =
Ansl =| 1= area3:{3’{4’}7} y
aread ={1,2,8,10}
areal = {7,8,9,12} |
area?2 = {5,11, 14
Ans2 =) 1= area3{={10} }
area4 ={2,3,4,6,13}]
i areal = {7} i
areal = {2}
area3 = {9,10, 13}
aread = {8
Ans3 =| .1 = mw:{{; -
areab = {5,16}
area7=1{1,4,6,11}
L Larea8 = {3,12,14, 15,17} ]
AU B=1{1,456,910,11,12,14} |
AN B={1}
40U B={1,2,3,7,8,912,13}
B A={45610,11,14}
4-B=1{9,12} , Ans5 =

B-4=1{2,3,7,813}
(4 U B)=1{2,3,7,8,13}
A~ B={273,78,13}

[(4-B)=1{1,2,3,4,5,6,7,8,10, 11, 13, 14} |

n(4 N B)=0 n(4 v B)=7
2= n(Ad-B)=4 n(U-(4 v B))=4
n(B-A4)=3 Math@MUT
n(4d N B)=3 n(4 v B)=38
,.2=| n(4-B)=4 n(U-(4 v B))=5
n(B-4)=1 Math@MUT
[ n(intersect(4, B, C)) =0 n(4d-B)=2

n(union(4, B, C)) =12 n(B-4)=5

n(4 N B)=1 n(C N (4 v B))=3

nBnC)=2 n(Cu (4 nB))=8

n4d v C)=9 n(intersect(4, B, C)'): 17
L nBuUC)=11 Math@MUT

A=(4 N B={areal})
2=(B-A={area3})
3=(A4=-B)n (B-A)={})
4=(4 v B={areal, area2, area3, area4, area5, area6 })
S=(4 v (B n C)={areal, area, area4, area’, area6 } )
6=((4 v B) n (A4 v C)={areal, area2, area4, areal, area6 })
7=((C-4) n (C-B)={area7})
8=(C-B= {area2, area3})
9=((4- C)'—Bz {aread, area7, area8})

[VJORE N IND:9:9:9:9:0:9:0:9:0:9:0:9:9:9.0:9.9.9.9.0.9.9:9.9.9.0.9.0.9:0:9:0.:9:0.9:0.9:0:9:0:9:0:0:0:9.0:9:9.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:9:0:9:0.9:0.:9:9.9:0.9.9.9.0.9.0.9.9.9.9.0.9.0.9:0.:9.0.9.0.9:0:9:0:9:0.9:0:9:0:9:0:9:0.9:0.9.9.9.0.9.9.9.9.0.9.0:9.0¢



areal = {5,9, 13}
area? = { }

Ansl=\I=l a3 =(2.4.6,12)
area4 ={1,3,7,8,10,11}
areal = {6}
area? ={11,13}
Ans2=1 T=10 a3 = {9, 12, 14, 15}
area4 =1{2,3,4,5,7,8, 10 16}
T areal = {18}
area? = {13}
area3 = {3,4}
aread = {7,17}
Ans3=| .1 = areas = { }
areab = { }
area7 ={6,11,15}
Larea8 ={2,5,8,9,10, 12,14, 16 } |

_AuB {3,5,7,8,9, 11,12, 13,16}
AN B={}

AU B=1{3,4,6,8,910,11,13,14,15}
B A={571216}
A-B=1{3,8,9,11,13}

B —A=1{4,6,10,14,15}
(4 U B)=1{4,6,10,14,15}
A~ B'={4,6,10, 14,15}
L (A-B)=1{4,5,6,7,10,12,14,15,16} |

Ans4 =

, Ans5 =

R ERUERANCIVIVENED 9:0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.:0:0.:0:0.:0:0:0:0.0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.0.0.0:0:0.0.0.0:0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.0:0.0:0:0:0.0:0.0:0.0.0:0.0:0.0:0.0:0.0:0.0:0.6:0.0:0.6:0.6:9.6:0.0:0. ¢ . YL EI I T O NN NI JON NS 0:¢
Set0l Answers for No.14801

n(d N B)=1
n(B N C)=0
n(d v C)=7
n(B U C)=8

n(C N (4 v B))=2
n(CuU (4 nB))=6
n(intersect(4, B, C)) =17
Math@MUT

n(4d N B)=0 n(4 U B)=7
,.2=| n(4-B)=3 n(U-(4 v B))=6
n(B-A4)=4 Math@MUT
n(4d N B)=2 n(4 v B)=17
= n4-B)=1 n(U-(4 v B))=8
n(B-4)=4 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=3
n(union(4, B, C))=9 n(B-4)=2

i =(A': {area3, area4})
2=(A—-B={areal })
3=0(4 n B)'= {areal, area3, aread })
4= (B/ = {areal, area4, area7, area8 })
S=(A4 n (B v C)={area2, area4, area’ })
6=((4 N B) U (4 n C)={areal, area4,areal})
7=((B-4) n (B-C)={area3})
.8:(8/—A/: {areal, aread})
L .9:(8' N (C—A)': {areal, area4, aread })

[VJONRSH IND:9:9:9:9:0:9:0:9:0:9:0:9:9:9.9.9.9.9.9.9.9.9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:9:0:9.0.9:9.9:0.9.9.9.0.9.9.9.9.0.0.0.9.0.9.0.9.0.9:0.9:0:9:0.9:0:9:0:9:0.9:0.:9:9.9:0.9.9.9.0.9.9.9.9.9.9.0.9.0.9:0.9.0.:9:0.:9:0:9:0:9:0.9:0:9:0.9:0:9:0.9:0.9.9.9.0.:9.9.9:9.0.9.0.9.0¢
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Set0l Answers for No.14809

Ans4 =

X [Page

areal = {3,4,9}

n(4 N B)=3  n(4 U B)=6
Ansl =| .1 = ”rejrzejg{f’{s}g} . 2=| n(4-B)=3 n(U-(4 U B))=5
aread = {6,7,10, 11, 12} n(B-4)=0 Math@MUT
areal = {6,8,9,14,16} n(d A B)=1 24 U B)=10
Ans2 =| .1 = area2= {7} ,.2=| n(4-B)=5 n(U-(4 U B))=5
area3 ={4,5,11,13}
aread = {3,10,12, 15,17} n(B-A)=4 Math@MUT
[ areal = {4} i ]
area2 = { } n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {11, 14,18} n(union(4, B, C)) =11 n(B-A4)=3
P aread = {6} . n(4 N B)=1 n(C N (4 v B))=2
' area5=1{9} . n(B N C)=1 n(Cu (4 nB))=7
areab = { } nd v C)=8 n(intersect(4, B, C)) = 15
area7 = {5,10,12,13,17} n(B v C)=10 Math@MUT
L L area8=1{3,7,8,15,16} | ]
A U B=1{6,8,9,10,11, 13, 14,15} [ 1 =(B'={areal, aread})
. AN B=1{8091011} 2=(B-A={area3})
AV B={4,5,6,7,8,9,10,11,12,13,14, 16} 3=((A-B) U (B-A)={areal,area3})
Bnd= {15} .4:(A’: {area3, areab, area7, area8 })
A-B=1{6,13,14} , AnsS = 3=(C v (A4 N B)={area2, area4, areas, areab, area7 })

B -A=1{4,57,12,16}
(4 U B)=1{4,5,7,12,16}
A4~ B'={4,571216}

(A-B)=1{4,5,7,8,9,10,11, 12,15, 16}

6=((4 v C) n (B vy C)={area2, aread, areas, areab, area7 })
7=((C-4) n (C-B)={area7})
8=(A4 N C={area3, area8})
9=((B- C)'—Ayz {areal, area4, area5 })

[VJONNCH IND:9:9:9:9:0:9:0:9:0:9:0:9:9:9:0.9.9.9:9.9.0.9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:0:0.9.0:9:9.9:9.9.9.9.9.9.9.9.9.0.9.0:9.0.9.0:9.0.9:0.9:0:9:0.9:0:9:0:9:0.9:0:9:9.9:0.9.9.9.0.9.0.9.9.9.0.0.9.0.9.0:9.0.9.0.9:0:9:0:9:0.9:0:9:0.9:0:0:0.9:0.9.9.9.0.9.9.9:9.0.9.0.9.0¢
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Set0l Answers for No.14998

Z:ZZ;:S‘Z@ n(d N B)=2  n(4du B)=7
Ansl =| .1 = area3:{5,9’,11} ,.2=| n(4-B)=2 n(U-(4 v B))=5
aread = {6,7,8,10, 12} n(B-4)=3 Math@MUT
”re‘;;z{f’Z’}lo} n(d ~ B)=0  n(duU B)=7
Ans2=| 1=\ s 03,45y 27| NAB)=3 n(U=(4 U B)=4
sreat—{1.2,8.9) nB-A)=4 Math@MUT
[ [ areal=1{6,8,9,10,14} | ]
area = { } n(intersect(4, B, C)) =2 n(4d-B)=5
area3 = {2, 12,13} n(union(4, B, C)) =11 n(B-A4)=3
szl 1o aread = { } 5 n4 n B)=2 n(C N (40U B))=2
' area5=1{4,7} . n(B N C)=2 n(Cu (4 N B))=3
areab = { } n(4 v C)=8 n(intersect(4, B, C)) = 15
area7 = {11} n(Bu C)=6 Math@MUT
L Larea8 ={0,1,3,5,15,16} ] J

4 v B=1{4,509,10,15} [ 1=(4A ~ B={area2}) )
AN B=1{4,10}

, 2=(A' - B={aread})
A v B={4,6,7,8,9, 19, 11,12, 13,14,15,16} 3=((4 N B) = {areal, area3, aread})

B nA4={5} 4=(B v C={area2, area3, area4, area5, areab, area?7 })
Ans4 = A4-B={9,15} , Ans5 = S=(B v (4 n C)={area, area3, area4, area5, areal } )
B-A= {6,7,8,11,12,13,14, 16} 6=((4 v B) n (B v C)={areal, area3, area4, areas, area6 })

(4 U B)=1{6,7,8,11,12,13,14, 16} 7=((B-A4) n (B-C)={area3})
A~ B=1{6,7738,11,12,13, 14,16} 8=(A - B = {area3, area6})
L (A—B)':{4, 5,6,7,8,10,11,12,13, 14,16} | L 9=(B N (C—-A4) ={areal, area4, area8 }) i

DG RF-Te (SR BN VI VNNV ID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9.0.9:0.9.0.9:0.9:0:9:0:9:0:9:0:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.0:0.:9:0.9:0.9.0.9.9.9.0.0:0.9.9.0.9.0.9:0.9:0:9:0.9:0.:9:0:9:0:9:0:0:0.9:0.9:9.9.0.9.9.9.9.0.9.0.9.0:¢
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Set0l Answers for No.15002

ar;rze‘il{zz{g}g} n(d N B)=3  n(d4duU B)=6
Ansl =| .1 = e 2= n(4-B)=0 n(U-(4 U B))=5

area3={1,4,6} -
area4 ={0,3,5,7,10} n(B-4)=3 Math@MUT

areal = {12}
area? = {13,15,16}

n(4 N B)=3  n(4uU B)=6

Ans2=|.1= area3 = (2. 14 ,.2=| n(4d-B)=1 n(U-(4 v B))=9
Laread = {3,4,5,6{, 7, 8,}9, 10, 11} n(B-A)=2 Math@MUT
[ areal = {6, 8} i ]
area? = {13} n(intersect(4, B, C)) =2 n(A-B)=2
area3 = {3} n(union(4, B, C))=28 n(B-A4)=3
P aread = { } P n(4d N B)=3 n(C N (4 v B))=4
' area5=1{9,10} . n(B N C)=4 n(Cu (4 nB))=5
area6b = {12,15} n(d v C)=7 n(intersect( A4, B, C)'): 12
area7 = { } n(Bu C)=6 Math@MUT
L Larea8 ={2,4,5,7,11, 14} ] ]
A U B=1{3,4,6,10,11,12, 14,15} i A= (A= {area3, aread}) i
A0 B={3,11,14} 2=(A-B={area})
A UB:{3’§=77819’11’13’ 14’15} 3=((A—B) ) (B—A):{area],area3})
B nA4={406,10,12} .4:(A’: {area3, areab, area7, area8 })
Ansd = A-B={15} , Ans5 = S5=(B n (4 v C)={area2, areas5, area6 )
B-A4=1{57,8,9,13} 6=((4 N B) U (B n C)=1{area2, area$, area6})
(4 U B)=1{57,8,9,13} 7=((C-4) n (C-B)={area7})
A N B={5728913} 8=(A" N B ={area7, area8})
L(4—-B) =1{3,4,5,6,7,8,9,10, 11,12, 13, 14} ] L 9=(B N (A4-C) = {area3, area5, area6}) ]

X [Page = 0018] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXXXXKXKXKXKXKXKXKXKX KX KX KK KK KKXKXKKXKXKXKKKKXKKX KKK KKK KK KK KK KKK KKK KKK KK KK KK KK KK KK KKK KK KKK KK KK KKK
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Set01l Answers for No.15007
areal = {13, 14}

area2— (6,11} n(4d n B)=2  n(4d U B)=7

Ansl =| .1 = area3 = (5.9, 12 ,.2=| n(4-B)=2 n(U-(4 v B))=6
aread = {2, 2,4, 7, 8,}10} n(B-4)=3 Math@MUT
arZ;;a:]{_O{f}S} n(d ~ B)=3 n(duU B)=7
Ans2=|.1= area3:{3:6:7} ,.2=| n(4-B)=1 n(U-(4 v B))=4
aread = {4.5.9.10} n(B-4)=3 Math@MUT
[ areal = {3,11} 1 |
area = { } n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {5} n(union(4, B, C)) =8 n(B-A4)=2
P aread = {4} g n(4d N B)=1 n(C N (4 v B))=3
' area5= {2} . n(B N C)=2 n(Cu (4 nB))=5
areab = {1} n4d v C)=7 n(intersect(4, B, C)'): 14
area7 = {6,12} nBuC)=6 Math@MUT
L Larea8 ={7,8,9, 10,13, 14, 15} ] J
A v B={1,3,6,7,8,9,10,11,13} 1 =(B={areal, aread?})
A4 B=11,311,13} 2=(A'~B={areas})
A v B={l2, 3,4%, 5,6,7,9,11,12,13} 3=(4 N B'={aread})
B nA=1810} .4:(A/: {area3, area6, area?7, area8 })
Ansd = /A_B: 16,7,9} , Ans5 = S=(4 v (B n C)={areal, areal, area4, areal, areat } )
B -4=1{2,4,512} 6=((4 v B) n (4 v C)={areal, area2, area4, areas, area6 })
(4 U B)=1{2,4,512} 7=((C-A4) n (C-B)={area7})
A4 N B= {2,4,5,12} .8:(A' U C= {areal, area2, area3, area6, area7, area8 })
L(A4- B)—{l 2,3,4,5,8,10,11,12, 13} | 9=((B- A)—C {areal, area2, area8 }) |
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Set0l Answers for No.10686

areal ={4,7,9,12,14}

areat={ } n(d N B)=0  n(4 U B)=9
Ansl =| .1 = area3 = {3,5,6,8} ,.2=| n(4-B)=5 n(U-(4 v B))=3
aread = {10, 11, 13 } n(B-A4)=4 Math@MUT
areaclzrea{29;1{35, 174; 15} n(A A B)=2 n(4 U B)=11
Ans2=| 1=\ 5 a6, 011, 1y p2=| nA=B) =4 n(U=(4 U B)=2
areat = (8, 12} nB-A4)=5 Math@MUT
i areal = {0, 16} i ]
area = { } n(intersect(4, B, C))=0 n(4d-B)=3
area3 =1{5,7,14} n(union(4, B, C)) =12 n(B-A4)=4
P aread = {1} . n(4 N B)=0 n(C N (4 v B))=2
' area5=1{ } - n(B N C)=1 n(Cu (4 nB))=7
areab = {3} n4d v C)=9 n(intersect(4, B, C)) =17
area7 =1{6,10,11, 13,15} n(B v C)=10 Math@MUT
L L area8=1{2,4,8,9,12} |

A v B={2,4,5,6,7,9,10,13} [ 1=(4 N B={area2}) 1
, 40 B={9; 2=(A-B = {area3})
AV B={23,67280911,12,13,14,15,16} 3=((4-B) U (B-A)={areal, area3})
BN A= {4,5,10} 4=(B v C={areal, area3, area4, areas, area6, area7 })
Ansd = A-B=1{2,6,7,13} 5=(C v (4 n B)={area2, aread, area5, area6, area7 })
B A= {3,8,11,12, 14,15, 16} 6=((4 v C) n (B v C)={area2, aread, areas, areab, area7 })
(4 U B)=1{3,811,12,14,15,16} 7=((A-B) N (A4-C)={areal })
A A~ B= (3,8,11,12, 14,15, 16} 8= (B/ U C= {areal, areal, area3, area4, area7, areas })
L (4-B)=1{3,4,5,8,9,10, 11,12, 14, 15,16} | L 9=(C n (B-A4) = {areal, area2, area8}) ]
WOPIEIID'0:0:0:0:0:0:0:0:0:010 0:0:00:0:0:0.0:0:0:0:0:0:0.0:0:00:0:0:0.0:0:0:0:0:0:0.0.:0:0:0:0.0:0.0.0:0:0.0:0:0.0.0.0:0.0:0:0.0:0:0:0:0:0:0.0:0.0:0:0:0:0.0.0.0:0:0:0:0.0.0.0:0:0:0:0.0.0.0:0.0:0:0.0:0.0.0.0:0:0.0.0.0.0.0:0:0.00.0:0:0:0:0.0:0.0:0:0.0:0:0:0.0:0.0'0:0.0:0.0:¢

, Ans5 =
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Set0l Answers for No.10870

X [Page =

”:Zer”ei;_{?;‘;} n(4 A B)=1  n(4 U B)=7
Ansl =| .1 = area37{1‘569} ,.2=| n(4-B)=2 n(U-(4 U B))=5
aread = {0,2,8,10, 11} n(B-A)=4 Math@MUT
”re"l;ei’f’;l’:f’ 15} n(4d ~B)=1  n(4 U B)=8
Ans2=| .1= maj__{4 101 ,.2=| n(4-B)=5 n(U-(4 v B))=7
aread = {2,6,8,9, 11, 13, 16} n(B-4)=2 Math@MUT
[ areal = {8} i ]
area2 = { } n(intersect(4, B, C)) =0 n(4d-B)=4
area3 = {3,5,7,9,12, 14} n(union(4, B, C)) = 12 n(B-A4)=6
nsi—| 1 aread = {1,4,10} 5 n(4d N B)=0 n(C N (4 U B))=3
S R area5={ } ol = n(B N C)=0 n(C U (4 N B))=5
areab = { } n(4 v C)=6 n(intersect(4, B, C)) = 15
area7 = {0, 6} n(Bu C)=11 Math@MUT

(4 U B=1{0,1,2,4,6,7,8,9,10} |
4N B={6,910}
40U B={0,1,2,3,5,6,7,9,10}

BN A=1{428}
Ansd = A-B={0,1,2,7} , Ans5 =
B’_A:{3’5}

(4 U B)=13,5}
A~ B={35
(A-B)=1{3,4,5,6,8,9,10}

area8={2,11,13} |

A= (B': {areal, area4})
2=(A4' - B'={area3})
3=((4 n B)'= {areal, area3, area4})
4=(4 v B={areal, area2, area3, area4, area5, area6 })
S5=(C U (4 n B)={area2, area4, areal, area6, area7 } )
6=((4 v C) n (B vy C)={area2, aread, areas, areab, area7 })
7=((B-4) v (B-C)={area2, area3, areab })
8= (A’ U B= {areal, area3, area4, area6, area7, area8 })
9= (C' N (B —A)': {areal, area2, aread8 })

(VL0123 N 1D:9:9:9:9:0:9:0:9:0:9:0:9:9:9:0.9.9.9.9.9.9.9:9.9.9.0.9.0.9:0:9:0.9:0.9:0.9:0:9:0:9:0:0:0.9.0.9:9.9:0.9.9.9.0.9.9.9.9.0.9.0:9.0.9.0.9.0.9:0.:9:0:9:0.9:0:9:0:9:0.9:0.9:9.9:0.9.9.9.0.9.9.9.9.9.9.0.9:0.9.0.9.0.:9.0.9:0:9:0:9:0.9:0:9:0.9:0:9:0.9:0.9.9.9.0.0.9.9:9.0.9.0.9.0¢
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Set0l Answers for No.11881
areal = {3, 14}

B n(4 N B)=3  n(4 U B)=6
Ansl =| .1 = ”re;’fe;;f’{lllz’}ls} L 2=| n(4-B)=2 n(U-(4 U B))=7
aread = {4,6,7,8,9,10, 13} n(B-4)=1 Math@MUT
”re"alr;i’ 1{0’}18} n(4 n B)=0  n(4 U B)=10
AS2=1 T2 a3 = (5,8, 11,13, 14,1517} = Eﬁﬁifiii n(UA_/I(;t@S)MfJ)T)ZS
aread = {4,6,7,12, 16} - “
[ [ areal ={2,12,15} | ]
area? = {6} n(intersect(4, B, C))=0 n(4d-B)=5
area3={3,9, 14} n(union(4, B, C)) =10 n(B-A4)=4
nsi—| 1 aread = (4,5} S n(4d N B)=1 n(C N (4 U B))=3
=T areas=1{} [°° n(B N C)=1 n(C U (4 N B))=4
area6b = {13} n4d v C)=7 n(intersect(4, B, C)) = 14
area7 = { } n(B v C)=7 Math@MUT
Larea8 = {7,8,10, 11} ] J

AU B=1{3,4,6,7,8,9,10,12,14}
A N B={8,10,12}

A4 U B'={5,6,7,8,9,10, 11,12, 13, 14}
BN A={34}
A-B=1{6,7,9,14}

B —A4=1{511,13}

(4 U B)={511,13}

A4~ B'={511,13}

Ans4 =

>

(A4-B)=1{3,4,5,8,10, 11,12, 13}

X [Page

i =(B/: {areal, area4})
2=(B —A ={areal })
3= (A' U B= {areal, area3, area4})
4= (B/ = {areal, area4, area7, area8 } )
S5=(C n (4 v B)={area4, area’, area6 })
6=((4 N C) v (B n C)={aread, areal, areab })
7=((B-4) n (B-C)={area3})
.8:(C/—A/: {areal, area?})
.9:(A' N (C—B)': {area3, areab, aread })

Ans5 =

(V012073 1D:9:9:9:9:0:9:0:9:0:9:0:9:9:9:9:9.9.9:9.9.9.9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:9:0.9.0:9:9.9.0.9.9.9.9.9.9.9.9.0.0.0.9.0.9:0.9.0.9:0.9:0:9:0.9:0:9:0:9:0.9:0.9:9.9:0.9.9.9.0.9.9.9.9.9.9.0.9.0.9.0:9:0.:9.0.:9:0:9:0:9:0.9:0:9:0.9:0.:9:0.9:0.9.9.9.0.9.9.9:9.0:0.0.9.0¢
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Set0l Answers for No.11956

areal = {2,9}
area? = {3,10}
area3 = {4,8,12}
aread = {5,6,7,11}
areal = {4,5,8,9, 14, 16}

n(4d n B)=2  n(4 U B)=7
2= n(A-B)=2 n(U-(4 U B))=4
n(B-A)=3 Math@MUT

Ansl =| .1 =

n(4 N B)=1 n(4 U B)=9

Ans2=| 1= a‘:reiza32:‘{{3157}} 22| n(A-B)=6 n(U—-(4 U B))=5
aread = {6, 10, 11,12, 13} n(B-A)=2 Math@MUT
i areal = {6,14,16} | ]
area2 = {7} n(intersect(4, B, C)) =1 n(4d-B)=3
area3 = {13, 15} n(union(4, B, C))=10 n(B-4)=4
ns3—| 1 aread = { } . n(4d N B)=2 n(C N ((4uvB))=3
' area5=1{10} . n(B N C)=3 n(Cu (4 nB))=5
areab = {2,8} n(d v C)=38 n(intersect(A4, B, C)') =14
area7 = {5} n(B v C)=7 Math@MUT
L Larea8 = {3,4,9, 11,12} J
4V B=1{2,3,56,8,10,11, 13, 14} i 1=(4 v B={areal, areal, area3})
AN B=12813} 2=(B-A4={area3})
AV B={2,3,4,6,7,8,9,12,13} 3=((A-B)n (B-A)={1)
B F\A':{S, 10, 11, 14} 4=(B n C={areal, areab})
Ansd = A-B={3,6} . Ans5 = 3=(C v (A N B)={area2, area4, areas, areab, area7 })
B—-A= {4,7,9,12} 6=((4 v C) n (B vy C)={area2, area4, areas, areab, area7 })
(4 UB)’={4,7,9, 12} .7=((A—'B) Q(A—C):{areal})
4 r\19’:{4’7,9, 12} 8=(4 ’r\ C = {area3, area8 })
_(A—B)’:{2,4,5,7, 8,9,10, 11,12, 13, 14} L 9=((C-B) —A={area3, areab, area8 }) i

DG RF-Te (SRE N VICH IID:9:9:9:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9:9:0.9:9.9.0.9.9.9.9.:9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0:9:0.0:0.:9:0.9.0.9.0.9.9.9.0.0:0.0.9.0.9.0.:9:0.9.0:9:0.9:0.:9:0:9:0:9:0:9:0.:9:0.:9:0.9:0.9.9.9.9.0.9.0.9:0.¢
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Set01l Answers for No.13828
areal = {8,12,14}

area2 = {5,6)} n(4 N B)=2  n(4u B)=7

Ansl =| .1 = area = (9. 13 ,.2=| n(4-B)=3 n(U-(4 v B))=6
aread = {2, 3,{4, 7, 1}6, 1} n(B-4)=2 Math@MUT
“re‘;ie‘a;i’?glg’}“} n(d ~ B)=2  n(duU B)=8
Ans2=| 1= area3:{3:5} ,.2=| n(4-B)=4 n(U-(4 U B))=3
aread = (4,7, 12} n(B-A4)=2 Math@MUT
[ [ areal={9,10,15} | i
area? = {11,17} n(intersect(A4, B, C)) =0 n(4-B)=3
area3 ={3,4,7,8,18} n(union(4, B, C)) =13 n(B-4)=5
aread = { } n(4d N B)=2 n(C N (4 v B))=0
Ans3 =| .1 = , .2 =
area5 ={ } n(B N C)=0 n(Cu (4 nB))=5
areab = { } n(4 u C)=8 n(intersect(4, B, C)) =17
area7 = {2,5,12} n(Bu C)=10 Math@MUT
L Larea8 = {6, 13, 14,16} ] ]
4 v B=1{6,8,10,14,16} [ 1 =(A'={area3, aread}) |
, A N B=1{10, 14} 2=(4 - B = {area3})
AU B'=1{4,56,7,8,9,10, 11,12, 13, 14, 15, 17, 18} 3=((A=B) A (B-A)={ 1)
B~ A={l16} 4=(A N B={area2, area5 })
Ans4 = 4-B={6,8} , Ans5 = S=(B N (4 v C)={area2, areal, areab})
B-A= {4,5,7,9,11,12,13,15,17, 18} 6=((4 N B) U (B n C)={area2, area’, areatb })
(4 U B)=1{4,5,7,9,11, 12,13, 15,17, 18} 7=((C-A4) n (C-B)={area7})
A A B={457,911,12,13,15,17, 18} 8= (B~ C = {aread, area7})
L(4-B) =1{4,5,7,9,10, 11, 12, 13, 14, 15, 16, 17, 18} L 9=((4-C) - B={aread, area7, area8 }) _

DG RF=Te (SHE NI V2X Y ID'0:9:9:9:0:9:0.9:0:9:0.9:0:9:0:9:0:9:0:9:0.9:9.9.0.9.9.9.9.9.9.0.9.0.9:0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0:9:0:0:0.9:0.9:0.:9:0.9:0.9:9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.:9:0.9:0.9:0:9:0:9:0:0:0.:9:0.9.0.9.0.9.9.9.9.0.9.0.9:0:¢
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Set0l Answers for No.13919

Ans4 =

X [Page

[ [ areal=1{2,3,10} |
area2 ={0,6}
Anst=\.I= area3 = {1}
L Larea4 = {4,5,7,8,9}]
[ i areal = {13} )
area2 =1{9,11,12}
Ans2 =) =) a3 (5,7,8, 14}
L Larea4 = {4, 6,10, 15} ]
I areal = {2,8, 11} ]
areal = {14}
area3 = {3,5,15,16}
aread = { }
Ans3 =| .1 = areas = { } , .2
areab = {9}
area7 = {17, 18}
L Larea8 = {1,4,6,7,10, 12,13}
[ 4 U B=1{4,6,7,8,910,12,13,14} |
AN B={}
4 U B={1,2,3,4,5,6,80911,12, 13}
B N A=1{710,14}
A-B=1{4,6,8,9,12,13} . Ans3 =

B —A4=1{1,2,3,511}

(4 U B)=1{1,2,3,511}

A nB={1,23,511}
(A4-B)=1{1,2,3,5,7,10,11, 14}

[n(4 N B)=2 n(d U B)=6
,.2=| n(4-B)=3 n(U-(4 U B))=5
 n(B-4)=1 Math@MUT
[n(4 N B)=3 n(4d U B)=8
,.2=| n(4-B)=1 n(U-(4 U B))=4
L n(B-4)=4 Math@MUT
n(intersect(4, B, C)) =0 n(d-B)=3
n(union(4, B, C)) =11 n(B-4)=5

n(d N B)=1 n(Cn (4uUB))=1

- n(B N C)=1 n(C U (4 N B))=4
n(4 v C)=17 n(intersect(4, B, C)) = 18
n(B U C)=8 Math@MUT

A=(A N B={area2})
2=(B-A4={area3})
.3=(A' N B= {aread})
4= (A/ = {area3, areab, area7, area8 })

S=(B U (4 n C)={area2, area3, area4, area$, areal } )
6=((4 v B) n (B v C)={areal, area3, area4, area’, area6 })
7=((B-4) v (B-C)={area2, area3, areab })
8= (B/— C= {aread, area?7 })

.9:(A' N (C—B)'z {area3, area6, area8 })

[VJ0123S] 1D:9:9:9:9:0:9:0:9:0:9:0:9:9:9.0.9.9.9.9.9.9.9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:9:0.9:0.9:9.9:9.9.9.9.0.9.9.9.9.0.0.0.9.0.9:0.9.0.9:0.9:0.9:0.9:0:9:0:9:0.9:0.:9:9.9:0.9.9.9.0.9.0.9.9.9.9.0.9.0.9.0.9.0.9:0.:9:0:9:0:9:0.9:0.9:0.9:0:0:0.9:0.9:9.9.0.:0.9.9:9.0:9.0.9.0:¢
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Set0l Answers for No.13932

areal = {9, 10, 12 ]
amz{:{z 7 ' n(d N B)=2 n(d U B)=7
Ansl =| .1 = area3*{3’8} ,.2=| n(4-B)=3 n(U—-(4 U B))=5
aread = {4,5,6,11, 13} n(B-4)=2 Math@MUT |
areal = {6,9, 16
mazz{{lo 12}} n(d N B)=2 n(4uU B)=10
Ans2=| .1 = ’ ,.2=| n(4-B)=3 n(U-(4 U B))=5
area3 ={8,11,13, 14,17}
aread = {4,5,7, 15, 18} n(B-4)=>5 Math@MUT
[ [ areal=1{4,9,15,16} | i
area2 = {10, 11} n(intersect(4, B, C)) =1 n(4-B)=4
area3 = {2,13} n(union(4, B, C)) =11 n(B-4)=3

aread =
Ans3 =| .1 = area5={{7§ , .2 =

areab = {3}
area7 = {8}

L Larea8 = {5,6,12,14, 17}

[ A U B=1{57,10,11,13,15} ]
AN B={57}
4 U B=1{4,5,6,7,8,9,11, 12, 14, 16,17}
B N A'={10,13,15}
Ansd = 4-B={11} AnsS =

>

B'—A4=1{4,6,8,9,12,14,16,17}
(4 U B)=1{4,6,8,9,12, 14, 16,17}
A4 N B'={46,8,9,12 14,16,17}
L(4—-B) =1{4,5,6,7,8,9, 10,12, 13, 14, 15, 16,17 } ]

X [Page

n(4d N B)=3 n(C N (4vB))=2
n(B N C)=2 n(Cu (4 nB))=5
n(4 v C)=9 n(intersect(4, B, C)) =15
n(B U C)=7 Math@MUT

i =(B': {areal, aread })
2=(A-B={area2})
3=((4-B) n(B-4)={})
4=(B n C={areas, areab})

S=(4 v (B n C)={areal, areal, area4, area5, area6 } )
6=((4 v B) n (4 v C)={areal, area2, area4, areas, area6 })
7=((B—-4) v (B-C)={area2, area3, areab })
8= (B/— C= {aread, area?7})

.9=(B' N (C—A)rz {areal, area4, area8})

[VJ012XCY 1D:9:9:9:9:0:9:0:9:0:9:0:9:9:9:0:9.9.9:9.9.9.:9:9.9.9.0.9.0.9:0:9:0:9:0.9:0.9:0:9:0:9:0:9:0.9.0.9.9.9:9.9.9.9.0.9.9.9.9.0.9.0:9.0.9.0.9.0.9:0.9:0.9:0.9:0:9:0:9:0.9:0.:9:9.9:0.9.9.9.0.9.0.9.9.9.0.0.9.0.9.0.:9.0.9:0.:9:0:9:0:9:0.9:0:9:0.9:0:0:0.9:0.9.9.9.0.:0.9.9:9.0:9.0.9.0¢
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Set0l Answers for No.14871

areal = {3’_2’2’ 6.7} n(d nB)=1 n(4du B)=8
Ansl =| .1 = a:‘erae;’:‘{g’s}} . 2=| n(4-B)=5 n(U—(4 U B))=3
aread= (1.9, 10} n(B-A)=2 Math@MUT 1|
“re;’jeaz{f’{lg 58’}10} n(d ~ B)=2  n(d U B)=9
Ans2=|.1= area3:{4,é,11} ,.2=| n(A-B)=4 n(U-(4 U B))=5
aread = {2,7,9,12,13} ] n(B-4)=3 Math@MUT
[ areal = {5,8,10} | ]
areal = { } [n(intersect(4, B, C))=0 n(d-B)=5
area3=1{2,6,7,11,13,16} n(union(4, B, C)) = 13 n(B-A4)=7
sl 12 aread = {12, 17} 5 n(4 N B)=0 n(C N (4uU B))=3
' area5 ={ } . n(B N C)=1 n(Cu (4 nB))=4
areab = {4} n(4 v C)=7 n(intersect(4, B, C)) =17
area7 = {1} L n(B v C)=10 Math@MUT
L L area8=1{3,9,14,15} ]

AU B=1{3,4,7,9,10,12,13,16}
AN B={16}

4 U B=1{3,56,728,911,12, 13, 14,15, 16,17}
BN A={410}

1 =(A v B={areal, areal, area3})
2=(A-B={area2})
.3=(A' N B= {aread})
4=(B n C={areas, areab})

Ans4 = A4-B={3,7,9,12,13} , Ans5 = S5=(C n (4 v B)={area4, area’, area6 })
B’—A:{5,6, 8, 11,14,15,17} O6=((4 N C) v (B n C)={aread,areal, areab })
(4 U B)=15,6,8,11,14,15,17} 7=((C-4) n (C-B)={area?})
A4 n B'=1{506,8,11,14,15 17} 8=(C —B'= {area2, area3})
L (4-B)={4,5,6,8,10,11,14,15, 16,17} | L 9=(B N (A-C) = {area3, area5, area6}) |

DG RF-Te (SRE NIV N ID'0:9:0:9:0:9:0:9:0:9:0.9:0:9:0:9:0:9:9.9:0.9:9.9:0.9.9.9.9.9.9.0.9.0.9.0.9:0.9.0.9:0.9:0:9:0:9:0:9:0.:9:0:9:0.9:0.9.9.9.9.9.9.9.9.0.9.0.9.0.9.0.9:0.9:0.9:0.9:0:0:0.9:0.0:0.9:0.9:0.9.9.9.9.9.0.0:0.0.9.0.9.0.9:0.9:0:9:0.9:0:9:0:9:0:9:0:0:0.:9:0.9:0.9.0.9.9.9.9.0.9.0.:9:0:¢
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Set0l Answers for No.14982

areal = {4,13}

B n(4 N B)=3 n(4 U B)=8
Ansl =| .1 = Z:ZZ?:?E%? gi . 2=| n(4-B)=2 n(U-(4 U B))=4
aread = 1{5.7,9, 14} n(B-A)=3 Math@MUT
“”:Z;ﬁéiﬁ;w n(4 A B)=3  n(4 U B)=8
Ans2=| .1= m;3_’{7’} ,.2=| n(4-B)=4 n(U-(4 v B))=7
aread = {5,9,10, 11, 15, 16, 17} nB-4)=1 Math@MUT
[ [ areal ={2,4,5} | ]
area2 = {8,12} n(intersect(4, B, C)) =1 n(4-B)=4
area3 = {1,13} n(union(4, B, C)) =12 n(B-4)=3
nsio| po| aread=1{113 | n(4 n B)=3 n(C N (4 U B))=3
WIEETL greas =14y 7T n(B N C)=2 n(C U (4n B)=7
area6 = {0} n4 v C)=10 n(intersect(4, B, C)) = 14
area7 ={3,7} n(Bu C)=9 Math@MUT
L Larea8 = {6,9, 10} ] |
AU B={1,2345,6,710,11,14} | [ .1 =(A4A v B={areal, area2, area3})
A nB=1{} 2=(A'-B={aread})
AU B'=1{1,2,8,9,12,13, 14} 3=((4 U B) = {aread})
B A=1{34,5,6,710,11}

4=(A4 v C={areal, area, area4, area’, areab, area7})
S5=(C n (4 v B)={area4, area’, area6 })
O6=((4 N C) v (B n C)={aread, areal, areab })
7=((B-4) n (B-C)={area3})
A~ B=1{891213} 8=(A' - C = {areab, area7})
_(A—B)':{3,4, 5,6,7,8,9,10,11, 12,13} ] L .9=((B—C)'—A'={area],area4, areal}) |
QU IID'0:0/0:0:0/0:0:0:0/0'0:0:0:0:0:0.0:0:0/00:0.0:0:0.0.0:0.0/0.0:0.0:0:0.0.0:0:0.0.0:0.0:0:0.0.0:0.0.0.0:0.0:0.0.0.:0:0.0.0.0:0.0:0.0.0.0.0.0.0.0:0.00:0.0.0:0.0.0.0:0.0:0.0.0:0:0.0.0.0:0.0'0.0.0:0:0.0.0.0:0.0'0.0.0:0:0.0.0:0.0'0'0:0.0:0:0.0'0:0:0'0'0:0.0:0.0.0:0:0:0'0'¢

Ans4 = A_B:{1725 14}
B —A4=1{8,9,12,13}
(4 U B)=1{8,9,12,13}

, Ans5 =
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Set0l Answers for No.15010

areal ={9,11, 14}

area2— {5, 12,13} n(4 N B)=3 n(4 U B)=8

Ansl =| .1 = ,.2=| n(d-B)=3 n(U-(4 v B))=4
are;jefj{’ 4, 2,6’13,}15 } n(B-4)=2 Math@MUT
aczr::aIZ:{{l3’7A;81’09}} n(d ~ B)=3  n(duU B)=9
ans2=| 1=l C TNy b2 =B =4 n(U=(4 U B))=4
aread = 10,5, 6,12 n(B-4)=2 Math@MUT
i areal = {11,15} ] i
area? = {2} n(intersect(4, B, C)) =1 n(4-B)=3
area3=1{1,6,8,14} n(union(4, B, C)) =11 n(B-A4)=5
ns3 | 1= aread = {3} . n(4d N B)=2 n(C N (4 U B))=3
' area5=1{9} . n(B N C)=2 n(Cu (4 nB)=5
area6 = {10} n(4 v C)=17 n(intersect(4, B, C)) =17
area7 = {13} n(B v C)=9 Math@MUT
L Larea8 = {0,4,5,7,12, 16, 17} |
4 B=1{1,2,3,45,6710} 1= (A= {area3, aread})
A4 0 B=1{4,10} 2=(4 - B={aread})
AUB={9,1,4,6,8,9,10} 3=((A-B) " (B-A)=1{})
B nA={23,5T17} 4=(4 N B={area2, areal})
Ans4 = 4-B={1,6} , Ans5 = S5=(C n (4 v B)={area4, area’, area6 })
B’—A:{O, 8,9} 6=((4 N C) U (B n C)={aread, areal, areab })
(4 U B)=1{0,8,9} 7=((B-4) v (B-C)={area2, area3, area6 })
4~ B'=1{0,8,9} 8=(B U C'={areal, area2, area3, aread, area7, area8 } )
_(A—B)':{O,2,3,4, 5,7,8,9,10} L 9=(4 N (B—C)rz{area],area4,area5}) |
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Set0l Answers for No.15013

X [Page =

Ans4 =

areal = {7,10}

N n(4d N B)=1  n(4 U B)=6
Ansl =| .1 = are:;efz{;ﬁ}m . 2=| n(4-B)=2 n(U-(4 U B))=5
aread = 4,5, 6,8, 12} n(B-4)=3 Math@MUT
areal = {5,8,9, 11
ma{zz{} } nd N B)=0  n(4 U B)=9
2= = a3 = (2,10,12, 14,153 [ 7 Eﬁﬁiiiii n(UA_/I(;@UM?/)T):6
aread = {3,4,6,7,13, 16} - “
I areal = { } ] i
area2 = {16} n(intersect(4, B, C)) =0 n(4-B)=4
area3 = {0,9,10, 11, 12} n(union(4, B, C)) = 13 n(B-A4)=5

aread ={1,2,6,17}
aread={ }
areab = { }

area7 ={3,7,14}

Ans3 =| .

,.2=

n(4d N B)=1 n(C N (4 v B))=4
n(B N C)=0 n(Cu(4nB))=8
n(4 v C)=8 n(intersect(4, B, C)/): 18
nBuC)=13 Math@MUT

L L area8 =1{4,5,8,13,15} |
AU B={1,3,4,6,9,10,11}
AN B={1,10}

A4 U B'=1{0,1,2,51778,9,10,12}
B A={340611}
A-B={9}
B'—4=1{0,2,5,7,8,12}

(4 U B)=1{0,2,5,7,8,12}

A4 N B=1{0,2,5778,12}

, Ans5 =

[(4-B)=1{0,1,2,3,4,5,6,7,8,10, 11,12}

.]=(B'= {areal, area4})
2=(B-A4={area3})
3=((A4-B) U (B—A4)={areal, area3})
4=(B n C={areal, areab})

S=(A4 n (B v C)={area2, area4, area’ })
6=((4 N B) v (4 n C)={area2, area4, areal })
7=((A-B) n (A-C)={areal })

.8:(8/ N C= {areal, area8 })
9=(B N (A—C)rz {area3, area5, area6})
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